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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 

December, 2017 

ELECTIVE COURSE : ECONOMICS 

EEC-007 : INDUSTRIAL DEVELOPMENT IN 
INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from all sections as per instructions. 

SECTION - A 
Attempt any two questions in about 500 words 
each : 	 2x20=40 

1. Economic development is synonymous with 
industrialisation. Examine this statement. Also 
state the issues confronting modern industry in 
emerging economies. 

2. Define 'globalisation'. Examine the strengths and 
weaknesses of Indian Industry in this context 

3. Critically examine the post-1991 industrial policy 
in India. 

4. "Small is big business in present international 
environment". Discuss. Suggest measures to 
make small business competitive. 
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SECTION - B 
Answer any four questions from this section in 
about 250 words each. 	 4x12=48 

5. Explain the rationale of privatisation in the Indian 
economy at the present juncture in India. 

6. Make a critical analysis of Alfred Weber's theory 
of industrial location. 

7. Examine in brief the causes of industrial disputes 
in India. Also throw light on arrangements made 
to solve this problem. 

8. What are the various kinds of debentures ? How 
is a debenture redeemed ? 

9. Examine in brief any three pricing techniques that 
industry can make use of. 

10. Distinguish between perfect competition and 
imperfect competition. Also state the different 
types of entry barriers that a new firm faces. 

SECTION - C 

11. Write short notes on any two of the following in 
about 100 words each. 	 2x6=12 
(a) Information Technology Industry in India 
(b) Industry's dependence on agriculture 
(c) Role of Foreign Trade in industrialisation 
(d) Concept of under - utilisation of industrial 

capacity 
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